- ® BICYCLE SHELTERS

CONVIVIALE® BICYCLE SHELTER

TECHNICAL SPECIFICATIONS

Dimensions: 2700 mm wide x 2097 mm high x 2323 mm
deep.

Structure: Steel tubes 100 x 60 mm.

Roof:50 x 30 mm steel tube crossbars, anti-UV-treated 10
mm cellular polycarbonate panels.

Finish:Galvanised and painted finish in our standard RAL
colours.

Extension: Extension module, 1300 mm wide.

Installation: Concreted directly into ground.

Optional:
Rear and side cladding: Aluminium frame and
anti-UV-treated 10 mm cellular polycarbonate panels.

Bike racks and bike stands are available - see bike rack
and bike stand product sections.

PAINT FINISH

2 [J B §H 1

Procity RAL 9010 RAL 5010 RAL 3020 RAL 9005
Grey

[ B B H BN

RAL 7044 RAL 3004 RAL 6005 RAL 8017 Corten
effect

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk


https://www.procity.co.uk/
https://www.pittman.ie/

(ee]

64 |ACC03322 Cheville a expansion M12

63 [ACC18130 8 [Rondelle large LL12 A2-70

62 |ACC22057 16 [Vis autoperceuse H 6.3x31 a Embase A2 BICOMP
61 |ACCOS010 32 |Ecrou M6 A2

60 |ACC18084 32 |Rondelle Plate M6 AZ-70

59 |ACC22073 16 |Vis H M6x75 Inox AZ-70

58 [ACC04981 Ecrou M8 frein bague nylon AZ

57 |ACC18118 Rondelle plate L8 A2

L
L
56 |SFI22202 4 |Vis BLHC M8x20 A2-70 BRUNIE
55 |SFIS29616-A | 4 |TRAVERSE DE BARDAGE LATERAL
53 |SFIS29616-B | 4 |[PANNEAU DE BARDAGE LATERAL ALVEOLAIRE
51 [SFI529616-0| 2 |PIED REGLABLE DE BARDAGE LATERAL
@ 50 |SFIS29616-C | 2 [POTEAU DE BARDAGE LATERAL
O E X| N° |Références | Qfé |Description

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk




<>

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



0 <

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



Tg
~20 mm
/9
-

SN
_

"/ "/

—1 100% Nm
@ gi\‘

—

53

T\
""""'fffffifffff:f"f"'f‘e
]‘_1 00% Nm

IE: 015312777 | sales@pittman.ie | www.pittman.ie

P

\\ﬁ// ’

UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



529610

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



Réf.529615

62 [ACC22057 16 |Vis autoperceuse H 6.3x31 a Embase A2
BICOMP

61 [ACC05010 16 |Ecrou M6 A2

60 |ACC18084 16 |Rondelle Plate M6 A2-70

59 |ACC22073 8 |Vis H M6x75 Inox A2-70

SFI529615-A | 4 [TRAVERSE DE BARDAGE DE FOND

52 |SFI529615-B | 2 |PANNEAU DE BARDAGE DE FOND ALVEOLAIRE
° [Références | Qté [Description

(
b

¢

Réf. 529617

ACC22057 8 |Vis autoperceuse H 63x31 a Embase A2
BICOMP

Ecrou M6 A2

Rondelle Plate M6 A2-70

Vis H M6x75 Inox A2-70

SFI529615-A TRAVERSE DE BARDAGE DE FOND
SFI529615-B PANNEAU DE BARDAGE DE FOND ALVECLAIRE
° |Références Qfé [Description

ACC05010
ACC18084
ACC22073

- IN| | O |

&)
R
| <:.' - ? é Q
T AN \ o
,/\/ﬂ C=N T~
\\@ /
| . o 1 I o T
/ \ < \8
1= el
(_ .

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



o

IE: 015312777 | sales@pittman.ie | www.pittman.ie

\ ? °
i:i'i::::’?"’""
\
i
E
N o
3

N N

UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



PROCITY = (x0)
X2 —6 g
g
A =

12777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



24 |SFI529610-C 4 |ECARTEUR DE FOND Lg.1267
19 |SFI22079 8 |Vis autoperceuse H 4.8x32 a Embase A2
BICOMP
13 |ACCO5061 3 |Embout plastique 100x60x4 NOIR
12 |ACC22077 9 |Vis BHc M8-25 A2-70 @
1 (ACC18118 18 [Rondelle plate L8 A2
10 |SFI22202 6 |Vis BLHC M8x20 A2-70 BRUNIE
0 9 [ACCO4981 9 |Ecrou M8 frein bague nylon A2

5 |SFI529610-A 3 |TETE DE POTEAU D'ABRI CYCLE CONVIVIALE

~ 2 2 |CADRE DE TOITURE ABRI CYCLE CONVIVIALE
1 |SFI529610-01 3 |POTEAU D'ABRI CYCLE CONVIVIALE

X| N° [Reéférences Qté [Description 2

800

bx@16

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



\@o\_'_-—__/

1712

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk






UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk

.ie | www.pittman.ie

IE: 015312777 | sales@pittman



ABRI CONVIVIALE ®
Complémentaire Lg.1300 x Ht.2100 x Prof.2300 - Réf.529611

Q

PROCITY

N° OF :

L

\

FRANCE: +33.(0)2.54.80.32.99
EXPORT: +33.(0)1.39.08.26.55

24 | SFI529610-C 2 |ECARTEUR DE FOND Lg1261
19 |SFI122079 4 |Vis autoperceuse H 4.8x32 a Embase A2 BICOMP
13 |ACCO5061 1 [Embout plastique 100x60x4 NOIR
12 |ACC22077 3 |Vis BHc M8-25 A2-70 0
1 [ACC1818 6 |Rondelle plate L8 A2
<> 10 | SFI122202 2 |Vis BLHC M8x20 A2-70 BRUNIE
9 |ALC04981 3 |Ecrou M8 frein bague nylon A2
5 [SFI529610-A 1 |TETE DE POTEAU D'ABRI CYCLE CONVIVIALE
2 1 |CADRE DE TOITURE ABRI CYCLE CONVIVIALE
1 |SFI529610-01 1 |POTEAU D'ABRI CYCLE CONVIVIALE
X [ N° [Références Qté |Description

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



529611

529610
N° 500

529611

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



	Conviviale_20Bike_20Shelter
	Conviviale_20Bike_20Shelter_20Installation_20Instructions



